
Turkish Journal of
INEQUALITIES

Available online at www.tjinequality.com

**FRACTIONAL HERMITE-HADAMARD TYPE INEQUALITIES FOR
CO-ORDINATED MT -CONVEX FUNCTIONS**

BADREDDINE MEFTA¹ AND ABDOURAZEK SOUAHI²

ABSTRACT. In this paper we establish a new fractional identity involving a function of two independent variables, and then we derive some fractional Hermite-Hadamard type integral inequalities for functions whose modulus of the mixed derivatives are co-ordinated MT -convex.

1. INTRODUCTION

Let f be a convex function, then we have

$$f\left(\frac{n+m}{2}\right) \leq \frac{1}{m-n} \int_n^m f(x) dx \leq \frac{f(n)+f(m)}{2}, \quad (1.1)$$

holds in every finite interval $[n, m]$. In the case where f is concave, then (1.1) holds in the reverse direction. The above inequality is well-known as Hermite-Hadamard integral inequality (see [4]).

In [15] Dragomir established the bi-dimensional analogue of (1.1) given by

$$\begin{aligned} f\left(\frac{n+m}{2}, \frac{r+k}{2}\right) &\leq \frac{1}{2} \left(\frac{1}{m-n} \int_n^m f\left(x, \frac{r+k}{2}\right) dx + \frac{1}{k-r} \int_r^k f\left(\frac{n+m}{2}, y\right) dy \right) \\ &\leq \frac{1}{(m-n)(k-r)} \int_n^m \int_r^k f(x, y) dy dx \\ &\leq \frac{1}{4} \left(\frac{1}{m-n} \int_n^m f(x, r) dx + \frac{1}{m-n} \int_n^m f(x, k) dx \right) \end{aligned}$$

Key words and phrases. Hermite-Hadamard inequality, Hölder inequality, co-ordinated MT -convex function

2010 *Mathematics Subject Classification.* 26D15, 26D20, 26A51.

Received: 14/02/2018

Accepted: 06/06/2018.

$$\begin{aligned}
 & + \frac{1}{k-r} \int_r^k f(n, y) dy + \frac{1}{k-r} \int_r^k f(m, y) dy \Big) \\
 \leq & \frac{f(n, r) + f(n, k) + f(m, r) + f(m, k)}{4}. \tag{1.2}
 \end{aligned}$$

The inequalities (1.2) have attracted many researchers. Various variants and refinements of (1.2) have appeared in the literature, see [2, 3, 5–14] and references therein.

Sarikaya [12] gave the following fractional Hermite-Hadamard for co-ordinated convex functions.

Theorem 1.1. *Let $f : [n, m] \times [r, k] \subset \mathbb{R}^2 \rightarrow \mathbb{R}$ be a function with $n < m, r < k$ and $\frac{\partial^2 f}{\partial s \partial t} \in L([n, m] \times [r, k])$. If $\left| \frac{\partial^2 f}{\partial s \partial t} \right|$ is co-ordinated convex function, then we have*

$$\begin{aligned}
 & \left| \frac{f(n, r) + f(n, k) + f(m, r) + f(m, k)}{4} + \frac{\Gamma(\alpha+1)\Gamma(\beta+1)}{(m-n)^\alpha(k-r)^\beta} \left(J_{n^+, r^+}^{\alpha, \beta} f(m, k) + J_{n^+, k^-}^{\alpha, \beta} f(m, r) \right) \right. \\
 & \left. + J_{m^-, r^+}^{\alpha, \beta} f(n, k) + J_{m^-, k^-}^{\alpha, \beta} f(n, r) - A \right| \\
 \leq & \frac{(m-n)(k-r)}{4(\alpha+1)(\beta+1)} \left(\left| \frac{\partial^2 f}{\partial s \partial t}(n, r) \right| + \left| \frac{\partial^2 f}{\partial s \partial t}(n, k) \right| + \left| \frac{\partial^2 f}{\partial s \partial t}(m, r) \right| + \left| \frac{\partial^2 f}{\partial s \partial t}(m, k) \right| \right),
 \end{aligned}$$

where

$$\begin{aligned}
 A = & \frac{\Gamma(\beta+1)}{4(k-r)^\beta} \left(J_{r^+}^\beta f(n, k) + J_{r^+}^\beta f(m, k) + J_{k^-}^\beta f(n, r) + J_{k^-}^\beta f(m, r) \right) \\
 & + \frac{\Gamma(\alpha+1)}{4(m-n)^\alpha} \left(J_{n^+}^\alpha f(m, r) + J_{n^+}^\alpha f(m, k) + J_{m^-}^\alpha f(n, r) + J_{m^-}^\alpha f(n, k) \right). \tag{1.3}
 \end{aligned}$$

Theorem 1.2. *Let $f : [n, m] \times [r, k] \subset \mathbb{R}^2 \rightarrow \mathbb{R}$ be a function with $n < m, r < k$ and $\frac{\partial^2 f}{\partial s \partial t} \in L([n, m] \times [r, k])$. If $\left| \frac{\partial^2 f}{\partial s \partial t} \right|^q, q > 1$ is co-ordinated convex function, then we have*

$$\begin{aligned}
 & \left| \frac{f(n, r) + f(n, k) + f(m, r) + f(m, k)}{4} + \frac{\Gamma(\alpha+1)\Gamma(\beta+1)}{(m-n)^\alpha(k-r)^\beta} \left(J_{n^+, r^+}^{\alpha, \beta} f(m, k) + J_{n^+, k^-}^{\alpha, \beta} f(m, r) \right) \right. \\
 & \left. + J_{m^-, r^+}^{\alpha, \beta} f(n, k) + J_{m^-, k^-}^{\alpha, \beta} f(n, r) - A \right| \\
 \leq & \frac{(m-n)(k-r)^{\frac{1}{p}}}{((\alpha p+1)(\beta p+1))^{\frac{1}{p}}} \left(\frac{1}{4} \right)^{\frac{1}{q}} \\
 & \times \left(\left| \frac{\partial^2 f}{\partial s \partial t}(n, r) \right|^q + \left| \frac{\partial^2 f}{\partial s \partial t}(n, k) \right|^q + \left| \frac{\partial^2 f}{\partial s \partial t}(m, r) \right|^q + \left| \frac{\partial^2 f}{\partial s \partial t}(m, k) \right|^q \right)^{\frac{1}{q}},
 \end{aligned}$$

where A is defined by (1.3) and $\frac{1}{p} + \frac{1}{q} = 1$.

In this paper we establish a new fractional identity involving a function of two independent variables, and then we derive some fractional Hermite-Hadamard type integral inequalities for functions whose modulus of the mixed derivatives are co-ordinated MT -convex.

2. PRELIMINARIES

In this section we recall some definitions that are well known in the literature, and assume that $\Lambda := [n, m] \times [r, k]$ be an interval in \mathbb{R}^2 with $n < m$ and $r < k$.

Definition 2.1. [9] A function $g : \Lambda \rightarrow \mathbb{R}$ is said to be co-ordinated MT -convex on Λ , if

$$\begin{aligned} f(tu + (1-t)v, \lambda w + (1-\lambda)x) &\leq \frac{\sqrt{t\lambda}}{4\sqrt{(1-t)(1-\lambda)}} f(u, w) + \frac{\sqrt{t(1-\lambda)}}{4\sqrt{(1-t)\lambda}} f(u, x) \\ &\quad + \frac{\sqrt{(1-t)\lambda}}{4\sqrt{t(1-\lambda)}} f(v, w) + \frac{\sqrt{(1-t)(1-\lambda)}}{4\sqrt{t\lambda}} f(v, x) \end{aligned}$$

holds for all $t, \lambda \in [0, 1]$ and $(u, w), (u, x), (v, w), (v, x) \in \Lambda$.

Definition 2.2. [1] The Riemann-Liouville integrals $J_{a^+}^\alpha g$ and $J_{b^-}^\alpha g$ of order $\alpha > 0$ with $a \geq 0$ where $g \in L([a, b])$ are defined by

$$\begin{aligned} J_{a^+}^\alpha g(u) &= \frac{1}{\Gamma(\alpha)} \int_a^u (u-t)^{\alpha-1} g(t) dt, \quad u > a \\ J_{b^-}^\alpha g(u) &= \frac{1}{\Gamma(\alpha)} \int_u^b (t-u)^{\alpha-1} g(t) dt, \quad b > u \end{aligned}$$

respectively and $\Gamma(\alpha) = \int_0^\infty e^{-t} t^{\alpha-1} dt$, is the Gamma function and $J_{a^+}^0 g(u) = J_{b^-}^0 g(u) = g(u)$.

Definition 2.3. [1] Let $f \in L(\Lambda)$. The Riemann-Liouville integrals $J_{n^+, r^+}^{\alpha, \beta}$, $J_{n^+, k^-}^{\alpha, \beta}$, $J_{m^-, r^+}^{\alpha, \beta}$, and $J_{m^-, k^-}^{\alpha, \beta}$ of order $\alpha, \beta > 0$ with $n, r \geq 0$, $n < m$ and $r < k$ are defined by

$$J_{n^+, r^+}^{\alpha, \beta} f(m, k) = \frac{1}{\Gamma(\alpha)\Gamma(\beta)} \int_n^m \int_r^k (m-x)^{\alpha-1} (k-y)^{\beta-1} f(x, y) dy dx, \quad (2.1)$$

$$J_{n^+, k^-}^{\alpha, \beta} f(m, r) = \frac{1}{\Gamma(\alpha)\Gamma(\beta)} \int_n^m \int_r^k (m-x)^{\alpha-1} (y-r)^{\beta-1} f(x, y) dy dx, \quad (2.2)$$

$$J_{m^-, r^+}^{\alpha, \beta} f(n, k) = \frac{1}{\Gamma(\alpha)\Gamma(\beta)} \int_n^m \int_r^k (x-n)^{\alpha-1} (k-y)^{\beta-1} f(x, y) dy dx, \quad (2.3)$$

$$J_{m^-, k^-}^{\alpha, \beta} f(n, r) = \frac{1}{\Gamma(\alpha)\Gamma(\beta)} \int_n^m \int_r^k (x-n)^{\alpha-1} (y-r)^{\beta-1} f(x, y) dy dx, \quad (2.4)$$

where Γ is the Gamma function, and

$$J_{n^+, r^+}^{0,0} f(m, k) = J_{n^+, k^-}^{0,0} f(m, r) = J_{m^-, r^+}^{0,0} f(n, k) = J_{m^-, k^-}^{0,0} f(n, r) = f(x, y).$$

Definition 2.4. [12] Let $f \in L(\Lambda)$. The Riemann-Liouville integrals $J_{m^-}^\alpha f(n, r)$, $J_{n^+}^\alpha f(m, r)$, $J_{k^-}^\beta f(n, r)$, and $J_{r^+}^\alpha f(n, k)$ of order $\alpha, \beta > 0$ with $n, r \geq 0$, $n < m$, and $r < k$ are defined by

$$J_{m^-}^\alpha f(n, r) = \frac{1}{\Gamma(\alpha)} \int_n^m (x-n)^{\alpha-1} f(x, r) dx, \quad (2.5)$$

$$J_{n^+}^\alpha f(m, r) = \frac{1}{\Gamma(\alpha)} \int_n^m (m-x)^{\alpha-1} f(x, r) dx, \tag{2.6}$$

$$J_{k^-}^\beta f(n, r) = \frac{1}{\Gamma(\beta)} \int_r^k (y-r)^{\beta-1} f(n, y) dy, \tag{2.7}$$

$$J_{r^+}^\alpha f(n, k) = \frac{1}{\Gamma(\beta)} \int_r^k (k-y)^{\beta-1} f(n, y) dy, \tag{2.8}$$

where Γ is the Gamma function.

3. MAIN RESULTS

Lemma 3.1. *Let $f : \Lambda \subseteq \mathbb{R}^2 \rightarrow \mathbb{R}$ be a differentiable mapping on $\Lambda = [n, m] \times [r, k]$ with $n < m$ and $r < k$. If $\frac{\partial^2 f}{\partial t \partial \lambda} \in L(\Lambda)$, then the following fractional equality holds*

$$\begin{aligned} & f\left(\frac{n+m}{2}, \frac{r+k}{2}\right) - \frac{f\left(n, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, r\right) + f\left(m, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, k\right)}{2} + A \\ & - \frac{\Gamma(\alpha+1)\Gamma(\beta+1)}{4(m-n)^\alpha(k-r)^\beta} \\ & \times \left(J_{n^+, r^+}^{\alpha, \beta} f(m, k) + J_{m^-, r^+}^{\alpha, \beta} f(n, k) + J_{n^+, k^-}^{\alpha, \beta} f(m, r) + J_{m^-, k^-}^{\alpha, \beta} f(n, r) \right) \\ = & \frac{(m-n)(k-r)}{4} \left(\int_0^1 \int_0^1 lh \frac{\partial^2 f}{\partial t \partial \lambda} (tn + (1-t)m, \lambda r + (1-\lambda)k) dt d\lambda \right. \\ & - \int_0^1 \int_0^1 ((1-t)^\alpha - t^\alpha) ((1-\lambda)^\beta - \lambda^\beta) \\ & \left. \times \frac{\partial^2 f}{\partial t \partial \lambda} (tn + (1-t)m, \lambda r + (1-\lambda)k) dt d\lambda \right), \end{aligned} \tag{3.1}$$

where

$$h = \begin{cases} 1 & \text{if } 0 \leq t < \frac{1}{2}, \\ -1 & \text{if } \frac{1}{2} \leq t < 1, \end{cases} \tag{3.2}$$

$$l = \begin{cases} 1 & \text{if } 0 \leq \lambda < \frac{1}{2}, \\ -1 & \text{if } \frac{1}{2} \leq \lambda < 1, \end{cases} \tag{3.3}$$

and

$$\begin{aligned} A = & \frac{\Gamma(\beta+1)}{4(k-r)^\beta} \left(J_{k^-}^\beta f(n, r) + J_{k^-}^\beta f(m, r) + J_{r^+}^\alpha f(n, k) + J_{r^+}^\alpha f(m, k) \right) \\ & + \frac{\Gamma(\alpha+1)}{4(m-n)^\alpha} \left(J_{m^-}^\alpha f(n, r) + J_{m^-}^\alpha f(n, k) + J_{n^+}^\alpha f(m, r) + J_{n^+}^\alpha f(m, k) \right). \end{aligned} \tag{3.4}$$

Proof. Let

$$I = \frac{(m-n)(k-r)}{4} (I_1 - I_2), \tag{3.5}$$

where

$$I_1 = \int_0^1 \int_0^1 lh \frac{\partial^2 f}{\partial t \partial \lambda} (tn + (1-t)m, \lambda r + (1-\lambda)k) dt d\lambda,$$

and

$$I_2 = \int_0^1 \int_0^1 ((1-t)^\alpha - t^\alpha) \left((1-\lambda)^\beta - \lambda^\beta \right) \\ \times \frac{\partial^2 f}{\partial t \partial \lambda} (tn + (1-t)m, \lambda r + (1-\lambda)k) dt d\lambda.$$

Clearly, we have

$$\begin{aligned} I_1 &= \int_0^{\frac{1}{2}} \int_0^{\frac{1}{2}} \frac{\partial^2 f}{\partial t \partial \lambda} (tn + (1-t)m, \lambda r + (1-\lambda)k) dt d\lambda \\ &\quad - \int_0^{\frac{1}{2}} \int_{\frac{1}{2}}^1 \frac{\partial^2 f}{\partial t \partial \lambda} (tn + (1-t)m, \lambda r + (1-\lambda)k) dt d\lambda \\ &\quad - \int_{\frac{1}{2}}^1 \int_0^{\frac{1}{2}} \frac{\partial^2 f}{\partial t \partial \lambda} (tn + (1-t)m, \lambda r + (1-\lambda)k) dt d\lambda \\ &\quad + \int_{\frac{1}{2}}^1 \int_{\frac{1}{2}}^1 \frac{\partial^2 f}{\partial t \partial \lambda} (tn + (1-t)m, \lambda r + (1-\lambda)k) dt d\lambda \\ &= \frac{1}{(m-n)(k-r)} \left(\left(f\left(\frac{n+m}{2}, \frac{r+k}{2}\right) - f\left(m, \frac{r+k}{2}\right) - f\left(\frac{n+m}{2}, k\right) + f(m, k) \right) \right. \\ &\quad - f\left(n, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, \frac{r+k}{2}\right) + f(n, k) - f\left(\frac{n+m}{2}, k\right) \\ &\quad - f\left(\frac{n+m}{2}, r\right) + f(m, r) + f\left(\frac{n+m}{2}, \frac{r+k}{2}\right) - f\left(m, \frac{r+k}{2}\right) \\ &\quad \left. + f(n, r) - f\left(\frac{n+m}{2}, r\right) - f\left(n, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, \frac{r+k}{2}\right) \right) \\ &= \frac{4}{(m-n)(k-r)} \left(\left(f\left(\frac{n+m}{2}, \frac{r+k}{2}\right) \right) + \frac{f(m,k)+f(n,k)+f(m,r)+f(n,r)}{4} \right. \\ &\quad \left. - \frac{f\left(n, \frac{r+k}{2}\right)+f\left(\frac{n+m}{2}, r\right)+f\left(m, \frac{r+k}{2}\right)+f\left(\frac{n+m}{2}, k\right)}{2} \right). \end{aligned} \tag{3.6}$$

Now, by integration by parts, I_2 gives

$$I_2 = \int_0^1 \left((1-\lambda)^\beta - \lambda^\beta \right) \\ \times \left(\int_0^1 ((1-t)^\alpha - t^\alpha) \frac{\partial^2 f}{\partial t \partial \lambda} (tn + (1-t)m, \lambda r + (1-\lambda)k) dt \right) d\lambda$$

$$\begin{aligned}
 &= \frac{1}{(m-n)(k-r)} (f(n, r) + f(n, k) + f(m, r) + f(m, k)) \\
 &\quad - \frac{\beta}{(m-n)(k-r)} \left(\int_0^1 (1-\lambda)^{\beta-1} f(n, \lambda r + (1-\lambda)k) d\lambda \right. \\
 &\quad + \int_0^1 \lambda^{\beta-1} f(n, \lambda r + (1-\lambda)k) d\lambda + \int_0^1 \lambda^{\beta-1} f(m, \lambda r + (1-\lambda)k) d\lambda \\
 &\quad \left. + \int_0^1 (1-\lambda)^{\beta-1} f(m, \lambda r + (1-\lambda)k) d\lambda \right) \\
 &\quad - \frac{\alpha}{(m-n)(k-r)} \left(\int_0^1 (1-t)^{\alpha-1} f(tn + (1-t)m, r) dt \right. \\
 &\quad + \int_0^1 t^{\alpha-1} f(tn + (1-t)m, r) dt + \int_0^1 t^{\alpha-1} f(tn + (1-t)m, k) dt \\
 &\quad \left. + \int_0^1 (1-t)^{\alpha-1} f(tn + (1-t)m, k) dt \right) \\
 &\quad + \frac{\alpha\beta}{(m-n)(k-r)} \left(\int_0^1 \int_0^1 t^{\alpha-1} \lambda^{\beta-1} f(tn + (1-t)m, \lambda r + (1-\lambda)k) d\lambda dt \right. \\
 &\quad + \int_0^1 \int_0^1 (1-t)^{\alpha-1} \lambda^{\beta-1} f(tn + (1-t)m, \lambda r + (1-\lambda)k) d\lambda dt \\
 &\quad + \int_0^1 \int_0^1 t^{\alpha-1} (1-\lambda)^{\beta-1} f(tn + (1-t)m, \lambda r + (1-\lambda)k) d\lambda dt \\
 &\quad \left. + \int_0^1 \int_0^1 (1-t)^{\alpha-1} (1-\lambda)^{\beta-1} f(tn + (1-t)m, \lambda r + (1-\lambda)k) d\lambda dt \right). \tag{3.7}
 \end{aligned}$$

Substituting (3.6) and (3.7) in (3.5), and putting $x = tn + (1-t)m$ and $y = \lambda r + (1-\lambda)k$, we get

$$\begin{aligned}
 I &= f\left(\frac{n+m}{2}, \frac{r+k}{2}\right) - \frac{f\left(n, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, r\right) + f\left(m, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, k\right)}{2} \\
 &\quad + \frac{\beta}{4(k-r)^\beta} \left(\int_r^k (y-r)^{\beta-1} f(n, y) dy + \int_r^k (y-r)^{\beta-1} f(m, y) dy \right)
 \end{aligned}$$

$$\begin{aligned}
& + \int_r^k (k-y)^{\beta-1} f(n,y) dy + \int_r^k (k-y)^{\beta-1} f(m,y) dy \Big) \\
& + \frac{\alpha}{4(m-n)^\alpha} \left(\int_n^m (x-n)^{\alpha-1} f(x,r) dx + \int_n^m (x-n)^{\alpha-1} f(x,k) dx \right. \\
& + \int_n^m (m-x)^{\alpha-1} f(x,r) dx + \int_n^m (m-x)^{\alpha-1} f(x,k) dx \Big) \\
& - \frac{\alpha\beta}{4(m-n)^\alpha(k-r)^\beta} \left(\int_n^m \int_r^k (m-x)^{\alpha-1} (k-y)^{\beta-1} f(x,y) dy dx \right. \\
& + \int_n^m \int_r^k (x-n)^{\alpha-1} (k-y)^{\beta-1} f(x,y) dy dx \\
& + \int_n^m \int_r^k (m-x)^{\alpha-1} (y-r)^{\beta-1} f(x,y) dy dx \\
& \left. + \int_n^m \int_r^k (x-n)^{\alpha-1} (y-r)^{\beta-1} f(x,y) dy dx \right). \tag{3.8}
\end{aligned}$$

Using (2.1)-(2.8) in (3.8), we obtain the desired result. \square

Theorem 3.1. *Let $f : \Lambda \rightarrow \mathbb{R}$ be a partially differentiable function on Δ . If $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right|$ is co-ordinated MT-convex function on Λ , then the following fractional inequality holds*

$$\begin{aligned}
& \left| f\left(\frac{n+m}{2}, \frac{r+k}{2}\right) - \frac{f\left(n, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, r\right) + f\left(m, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, k\right)}{2} + A \right. \\
& \left. - \frac{\Gamma(\alpha+1)\Gamma(\beta+1)}{4(m-n)^\alpha(k-r)^\beta} \right. \\
& \left. \times \left(J_{n^+, r^+}^{\alpha, \beta} f(m, k) + J_{m^-, r^+}^{\alpha, \beta} f(n, k) + J_{n^+, k^-}^{\alpha, \beta} f(m, r) + J_{m^-, k^-}^{\alpha, \beta} f(n, r) \right) \right| \\
& \leq \frac{(m-n)(k-r)}{16} \left(\frac{\pi^2}{4} + B\left(\frac{1}{2}, \alpha + \frac{1}{2}\right) B\left(\frac{1}{2}, \beta + \frac{1}{2}\right) \right) \\
& \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(n, r) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(n, k) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(m, r) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(m, k) \right| \right),
\end{aligned}$$

where A is defined as in (3.4) and $B(.,.)$ is the beta function.

Proof. From Lemma 3.1, and properties of modulus, we have

$$\begin{aligned}
 & \left| f\left(\frac{n+m}{2}, \frac{r+k}{2}\right) - \frac{f\left(n, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, r\right) + f\left(m, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, k\right)}{2} + A \right. \\
 & \quad \left. - \frac{\Gamma(\alpha+1)\Gamma(\beta+1)}{4(m-n)^\alpha(k-r)^\beta} \right. \\
 & \quad \times \left(J_{n^+, r^+}^{\alpha, \beta} f(m, k) + J_{m^-, r^+}^{\alpha, \beta} f(n, k) + J_{n^+, k^-}^{\alpha, \beta} f(m, r) + J_{m^-, k^-}^{\alpha, \beta} f(n, r) \right) \Big| \\
 \leq & \frac{(m-n)(k-r)}{4} \left(\int_0^1 \int_0^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda} (tn + (1-t)m, \lambda r + (1-\lambda)k) \right| dt d\lambda \right. \\
 & + \int_0^1 \int_0^1 (1-t)^\alpha (1-\lambda)^\beta \left| \frac{\partial^2 f}{\partial t \partial \lambda} (tn + (1-t)m, \lambda r + (1-\lambda)k) \right| dt d\lambda \\
 & + \int_0^1 \int_0^1 t^\alpha (1-\lambda)^\beta \left| \frac{\partial^2 f}{\partial t \partial \lambda} (tn + (1-t)m, \lambda r + (1-\lambda)k) \right| dt d\lambda \\
 & + \int_0^1 \int_0^1 (1-t)^\alpha \lambda^\beta \left| \frac{\partial^2 f}{\partial t \partial \lambda} (tn + (1-t)m, \lambda r + (1-\lambda)k) \right| dt d\lambda \\
 & \left. + \int_0^1 \int_0^1 t^\alpha \lambda^\beta \left| \frac{\partial^2 f}{\partial t \partial \lambda} (tn + (1-t)m, \lambda r + (1-\lambda)k) \right| dt d\lambda. \right. \tag{3.9}
 \end{aligned}$$

Since $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right|$ is co-ordinated *MT*-convex, we have

$$\begin{aligned}
 & \left| f\left(\frac{n+m}{2}, \frac{r+k}{2}\right) - \frac{f\left(n, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, r\right) + f\left(m, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, k\right)}{2} + A \right. \\
 & \quad \left. - \frac{\Gamma(\alpha+1)\Gamma(\beta+1)}{4(m-n)^\alpha(k-r)^\beta} \right. \\
 & \quad \times \left(J_{n^+, r^+}^{\alpha, \beta} f(m, k) + J_{m^-, r^+}^{\alpha, \beta} f(n, k) + J_{n^+, k^-}^{\alpha, \beta} f(m, r) + J_{m^-, k^-}^{\alpha, \beta} f(n, r) \right) \Big| \\
 \leq & \frac{(m-n)(k-r)}{4} \left(\int_0^1 \int_0^1 \left(\frac{\sqrt{t\lambda}}{4\sqrt{(1-t)(1-\lambda)}} \left| \frac{\partial^2 f}{\partial t \partial \lambda} (n, r) \right| + \frac{\sqrt{t(1-\lambda)}}{4\sqrt{(1-t)\lambda}} \left| \frac{\partial^2 f}{\partial t \partial \lambda} (n, k) \right| \right. \right. \\
 & \left. \left. + \frac{\sqrt{(1-t)\lambda}}{4\sqrt{t(1-\lambda)}} \left| \frac{\partial^2 f}{\partial t \partial \lambda} (m, r) \right| + \frac{\sqrt{(1-t)(1-\lambda)}}{4\sqrt{t\lambda}} \left| \frac{\partial^2 f}{\partial t \partial \lambda} (m, k) \right| \right) dt d\lambda \right. \\
 & \left. + \int_0^1 \int_0^1 (1-t)^\alpha (1-\lambda)^\beta \left(\frac{\sqrt{t\lambda}}{4\sqrt{(1-t)(1-\lambda)}} \left| \frac{\partial^2 f}{\partial t \partial \lambda} (n, r) \right| + \frac{\sqrt{t(1-\lambda)}}{4\sqrt{(1-t)\lambda}} \left| \frac{\partial^2 f}{\partial t \partial \lambda} (n, k) \right| \right. \right.
 \end{aligned}$$

$$\begin{aligned}
& + \frac{\sqrt{(1-t)\lambda}}{4\sqrt{t(1-\lambda)}} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(m, r) \right| + \frac{\sqrt{(1-t)(1-\lambda)}}{4\sqrt{t\lambda}} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(m, k) \right| \Big) dt d\lambda \\
& + \int_0^1 \int_0^1 t^\alpha (1-\lambda)^\beta \left(\frac{\sqrt{t\lambda}}{4\sqrt{(1-t)(1-\lambda)}} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(n, r) \right| + \frac{\sqrt{t(1-\lambda)}}{4\sqrt{(1-t)\lambda}} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(n, k) \right| \right. \\
& + \frac{\sqrt{(1-t)\lambda}}{4\sqrt{t(1-\lambda)}} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(m, r) \right| + \frac{\sqrt{(1-t)(1-\lambda)}}{4\sqrt{t\lambda}} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(m, k) \right| \Big) dt d\lambda \\
& + \int_0^1 \int_0^1 (1-t)^\alpha \lambda^\beta \left(\frac{\sqrt{t\lambda}}{4\sqrt{(1-t)(1-\lambda)}} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(n, r) \right| + \frac{\sqrt{t(1-\lambda)}}{4\sqrt{(1-t)\lambda}} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(n, k) \right| \right. \\
& + \frac{\sqrt{(1-t)\lambda}}{4\sqrt{t(1-\lambda)}} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(m, r) \right| + \frac{\sqrt{(1-t)(1-\lambda)}}{4\sqrt{t\lambda}} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(m, k) \right| \Big) dt d\lambda \\
& + \int_0^1 \int_0^1 t^\alpha \lambda^\beta \left(\frac{\sqrt{t\lambda}}{4\sqrt{(1-t)(1-\lambda)}} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(n, r) \right| + \frac{\sqrt{t(1-\lambda)}}{4\sqrt{(1-t)\lambda}} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(n, k) \right| \right. \\
& + \frac{\sqrt{(1-t)\lambda}}{4\sqrt{t(1-\lambda)}} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(m, r) \right| + \frac{\sqrt{(1-t)(1-\lambda)}}{4\sqrt{t\lambda}} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(m, k) \right| \Big) dt d\lambda \\
& = \frac{(m-n)(k-r)}{16} \left(\frac{\pi^2}{4} + B\left(\frac{1}{2}, \alpha + \frac{1}{2}\right) B\left(\frac{1}{2}, \beta + \frac{1}{2}\right) \right) \\
& \quad \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(n, r) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(n, k) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(m, r) \right| + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(m, k) \right| \right),
\end{aligned}$$

which is the desired result. \square

Theorem 3.2. *Let $f : \Lambda \rightarrow \mathbb{R}$ be a partially differentiable function on Λ . If $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right|^q$ with $q > 1$ is co-ordinated MT-convex function on Λ , then the following fractional inequality holds*

$$\begin{aligned}
& \left| f\left(\frac{n+m}{2}, \frac{r+k}{2}\right) - \frac{f\left(n, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, r\right) + f\left(m, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, k\right)}{2} + A \right. \\
& \quad \left. - \frac{\Gamma(\alpha+1)\Gamma(\beta+1)}{4(m-n)^\alpha(k-r)^\beta} \right. \\
& \quad \times \left(J_{n^+, r^+}^{\alpha, \beta} f(m, k) + J_{m^-, r^+}^{\alpha, \beta} f(n, k) + J_{n^+, k^-}^{\alpha, \beta} f(m, r) + J_{m^-, k^-}^{\alpha, \beta} f(n, r) \right) \Big| \\
& \leq \frac{(m-n)(k-r)}{4} \left(1 + \frac{4}{(\alpha p + 1)^{\frac{1}{p}} (\beta p + 1)^{\frac{1}{p}}} \right) \left(\frac{\pi}{4} \right)^{\frac{2}{q}} \\
& \quad \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(n, r) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(n, k) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(m, r) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(m, k) \right|^q \right)^{\frac{1}{q}},
\end{aligned}$$

where $\frac{1}{p} + \frac{1}{q} = 1$ and A is defined as in (3.4).

Proof. From Lemma 3.1, properties of modulus, and Hölder inequality, we have

$$\begin{aligned}
 & \left| f\left(\frac{n+m}{2}, \frac{r+k}{2}\right) - \frac{f\left(n, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, r\right) + f\left(m, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, k\right)}{2} + A \right. \\
 & \quad \left. - \frac{\Gamma(\alpha+1)\Gamma(\beta+1)}{4(m-n)^\alpha(k-r)^\beta} \right. \\
 & \quad \left. \times \left(J_{n^+, r^+}^{\alpha, \beta} f(m, k) + J_{m^-, r^+}^{\alpha, \beta} f(n, k) + J_{n^+, k^-}^{\alpha, \beta} f(m, r) + J_{m^-, k^-}^{\alpha, \beta} f(n, r) \right) \right| \\
 & \leq \frac{(m-n)(k-r)}{4} \left(\left(\int_0^1 \int_0^1 dt d\lambda \right)^{\frac{1}{p}} + \left(\int_0^1 \int_0^1 (1-t)^{\alpha p} (1-\lambda)^{\beta p} dt d\lambda \right)^{\frac{1}{p}} \right. \\
 & \quad \left. + \left(\int_0^1 \int_0^1 t^{\alpha p} (1-\lambda)^{\beta p} dt d\lambda \right)^{\frac{1}{p}} + \left(\int_0^1 \int_0^1 (1-t)^{\alpha p} \lambda^{\beta p} dt d\lambda \right)^{\frac{1}{p}} \right. \\
 & \quad \left. + \left(\int_0^1 \int_0^1 t^{\alpha p} \lambda^{\beta p} dt d\lambda \right)^{\frac{1}{p}} \right) \\
 & \quad \times \left(\int_0^1 \int_0^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda} (tn + (1-t)m, \lambda r + (1-\lambda)k) \right|^q dt d\lambda \right)^{\frac{1}{q}} \\
 & = \frac{(m-n)(k-r)}{4} \left(1 + \frac{4}{(\alpha p + 1)^{\frac{1}{p}} (\beta p + 1)^{\frac{1}{p}}} \right) \\
 & \quad \times \left(\int_0^1 \int_0^1 \left| \frac{\partial^2 f}{\partial t \partial \lambda} (tn + (1-t)m, \lambda r + (1-\lambda)k) \right|^q dt d\lambda \right)^{\frac{1}{q}}. \tag{3.10}
 \end{aligned}$$

Since $\left| \frac{\partial^2 f}{\partial t \partial \lambda} \right|^q$ is co-ordinated *MT*-convex, we deduce

$$\begin{aligned}
 & \left| f\left(\frac{n+m}{2}, \frac{r+k}{2}\right) - \frac{f\left(n, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, r\right) + f\left(m, \frac{r+k}{2}\right) + f\left(\frac{n+m}{2}, k\right)}{2} + A \right. \\
 & \quad \left. - \frac{\Gamma(\alpha+1)\Gamma(\beta+1)}{4(m-n)^\alpha(k-r)^\beta} \right. \\
 & \quad \left. \times \left(J_{n^+, r^+}^{\alpha, \beta} f(m, k) + J_{m^-, r^+}^{\alpha, \beta} f(n, k) + J_{n^+, k^-}^{\alpha, \beta} f(m, r) + J_{m^-, k^-}^{\alpha, \beta} f(n, r) \right) \right| \\
 & \leq \frac{(m-n)(k-r)}{4} \left(1 + \frac{4}{(\alpha p + 1)^{\frac{1}{p}} (\beta p + 1)^{\frac{1}{p}}} \right) \left(\int_0^1 \int_0^1 \left(\frac{\sqrt{(1-t)(1-\lambda)}}{4\sqrt{t\lambda}} \left| \frac{\partial^2 f}{\partial t \partial \lambda} (m, k) \right|^q \right. \right. \\
 & \quad \left. \left. + \frac{\sqrt{t(1-\lambda)}}{4\sqrt{(1-t)\lambda}} \left| \frac{\partial^2 f}{\partial t \partial \lambda} (n, k) \right|^q + \frac{\sqrt{(1-t)\lambda}}{4\sqrt{t(1-\lambda)}} \left| \frac{\partial^2 f}{\partial t \partial \lambda} (m, r) \right|^q \right) dt d\lambda \right)^{\frac{1}{q}}
 \end{aligned}$$

$$\begin{aligned}
& + \frac{\sqrt{t\lambda}}{4\sqrt{(1-t)(1-\lambda)}} \left| \frac{\partial^2 f}{\partial t \partial \lambda}(n, r) \right|^q \Big) dt d\lambda \Big)^{\frac{1}{q}} \\
= & \frac{(m-n)(k-r)}{4} \left(1 + \frac{4}{(\alpha p+1)^{\frac{1}{p}} (\beta p+1)^{\frac{1}{p}}} \right) \left(\frac{\pi}{4} \right)^{\frac{2}{q}} \\
& \times \left(\left| \frac{\partial^2 f}{\partial t \partial \lambda}(n, r) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(n, k) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(m, r) \right|^q + \left| \frac{\partial^2 f}{\partial t \partial \lambda}(m, k) \right|^q \right)^{\frac{1}{q}},
\end{aligned}$$

which is the desired result. \square

REFERENCES

- [1] A. A. Kilbas, H. M. Srivastava, and J. J. Trujillo, *Theory and applications of fractional differential equations*, volume 204 of North-Holland Mathematics Studies, Elsevier Science B.V., Amsterdam, 2006.
- [2] B.-Y. Xi, J. Hua, and F. Qi, *Hermite-Hadamard type inequalities for extended s -convex functions on the co-ordinates in a rectangle*, J. Appl. Anal., **20**(1) (2014), 29–39.
- [3] H. Yıldız, M. Z. Sarıkaya, and Z. Dahmani, *On the Hermite-Hadamard-Fejer-type inequalities for co-ordinated convex functions via fractional integrals*, Int. J. Optim. Control. Theor. Appl. IJOCTA, **7**(2) (2017), 205–215.
- [4] J. E. Pečarić, F. Proschan, and Y. L. Tong, *Convex functions, partial orderings, and statistical applications*, volume 187 of Mathematics in Science and Engineering, Academic Press, Inc., Boston, MA, 1992.
- [5] K.-C. Hsu, *Refinements of Hermite-Hadamard type inequalities for differentiable co-ordinated convex functions and applications*, Taiwanese J. Math., **19**(1) (2015), 133–157.
- [6] K.-L. Tseng and K.-C. Hsu, *New fractional integral inequalities for differentiable convex functions and their applications*, Ukraï n. Mat. Zh., **69**(3) (2017), 407–425.
- [7] M. Alomari and M. Darus, *The Hadamard's inequality for s -convex function of 2-variables on the co-ordinates*, Int. J. Math. Anal. (Ruse), **2**(13-16) (2008), 629–638.
- [8] M. Alomari and M. Darus, *On the Hadamard's inequality for log-convex functions on the coordinates*, J. Inequal. Appl., page Art. ID 283147 13, 2009.
- [9] M. A. Latif and M. Alomari, *Hadamard-type inequalities for product two convex functions on the co-ordinates*, Int. Math. Forum, **4**(45-48) (2009), 2327–2338.
- [10] M. A. Latif and S. S. Dragomir, *On some new inequalities for differentiable co-ordinated convex functions*, J. Inequal. Appl., **2012**(28) (2012), 1–13.
- [11] M. E. Özdemir, H. Kavurmaci, A. O. Akdemir, and M. Avci, *Inequalities for convex and s -convex functions on $\Delta = [a, b] \times [c, d]$* , J. Inequal. Appl., **2012**(20) (2012), 1–19.
- [12] M. Z. Sarıkaya, *On the Hermite-Hadamard-type inequalities for co-ordinated convex function via fractional integrals*, Integral Transforms Spec. Funct., **25**(2) (2014), 134–147.
- [13] M. Z. Sarıkaya, E. Set, M. E. Ozdemir, and S. S. Dragomir, *New some Hadamard's type inequalities for co-ordinated convex functions*, Tamsui Oxf. J. Inf. Math. Sci., **28**(2) (2012), 137–152.
- [14] P. Mohammed, *Some new hermite-hadamard type inequalities for mt -convex functions on differentiable coordinates*, Journal of King Saud University-Science, **30**(2) (2018), 258–262.
- [15] S. S. Dragomir, *On the Hadamard's inequality for convex functions on the co-ordinates in a rectangle from the plane*, Taiwanese J. Math., **5**(4) (2001), 775–788.

¹LABORATOIRE DES TÉLÉCOMMUNICATIONS,
FACULTÉ DES SCIENCES ET DE LA TECHNOLOGIE,
UNIVERSITY OF 8 MAY 1945 GUELMA, P.O. BOX 401, 24000 GUELMA, ALGERIA
E-mail address: badrimeftah@yahoo.fr

²LABORATORY OF ADVANCED MATERIALS,
DEPARTMENT OF MATHEMATICS,
BADJI MOKHTAR-ANNABA UNIVERSITY, P.O. BOX 12, 23000 ANNABA, ALGERIA
E-mail address: arsouahi@yahoo.fr